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Fill in the blanks to complete the sentence.

ny Ll S b

4. koK m ERE S RAEFA L TRD L.

Find the following numbers using prime factorization.

~EH

O bokkx w2 ®(FH)L<a

e
W78 54K

Thbb, X =a ThdLx,

AR Th

‘@1ﬁm%

AL

L, 0@1%@

Cxod S A

@2 F OFHE

ﬁfké<o

L ﬂmbf1ﬁﬁ%*®é

L<

S~ Th

WEVa

AR Th

CThDHIND,
CTHDHIND,
CThDHIND,

C THDOIND,

V=

Vi =

Vo -
Vie =

ekd Bz bL
2. RO KD &,

Find the value of the following expression.

nwnEn HAEW

5 BE 0

D 7 0FH A D 3 0P
N

@ 49 O F H i @ 64 O FH i

VIS =7 , =49 =—7

b= Lidd9En

3. KKOD il 2 /I %I% luifik&)ot

Find the following value to one decimal place.

nwnEn

I

(ol
Y\v’:

2.7 = 7.29 kv

2.6<V7 <2

fo1 48 e
VT V8
2=y , 3*=9 &y

2<T <3
2.67 = 6.76

V7= 2.6

2.6 2.7
X 2.6 X 2.7
156 189
52 5 4
6.7 6 729

N b AEN
151) #H 1] 2H
/4356 /3025

2 )4 3 5 ¢

2 )27 7 ¢

3 )70 8 9

I

) 7 2

77

VH356=1/2X2X3X3X[IX]]
=2 X3 X[ =bb
o L? N AT ti/j.i .
D % m}g H L, XR"E"XE D Check the following formula
v En b
15l R ] RH

D+/81 ++/144 ++/225

D+/36 ++64 #+/100

9 + 72 +F 75

@169 —4/144 +.°25  |@+/400 —+/144 +./256

/3 — 72 # 5
®+/16 ++/16 = 21/16 ®+/36 ++/36 = 236
4+4 =2 x4

@2v9 +3/9=5+9 |@3+v4 +54=284

2 X343 X3 =5 x3

® 3164 — /64 = 2164 |® 5V/4 —/4 = 44
3XE—F =2 x§

® 3125 — 225 =25  |® 5116 — 41/16 =1/16

3 X5—2 X5 =5

@D+/144 +~+/9 =1/16

12— 3 =4

@D+/144 +~+/4 =1/36

® 5v4 x 109 =536

5 X2 X3

314 x /16 = 31/64

=5 X6

©® (+100 )*= 100

70 = 700
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1. /k@ %g&bf j( ;%%%J@i 4. /k@%é%ﬁKéA 7SN J:o D tjé':; 5 Check the following formula.
Fill in the blanks to complete the sentence. PR R,
il B [

3.

O bokkx w2 ®(FH)L<a

~EH

e
W78 54K

Thbb, X =a ThdLx,

X xao L,
Ry g ~viES ChA D | ok b 03
Eo¥k a0 T HRE b0, ManEL<
HRRRRD, ZOEOVREEY :
st LE<,
EEL, 00¥FHRIE  ThHE,
bl
/j’( D ﬁlﬁ‘ & ;k p) J: Find the value of the following expression
o En b L
15l /A i &H
~WIEY A ~WVWIEH A
@ 10 O F 5 R O 3 DOFJiA
VIO, —V70
~W0 Y A ~WVWIEH A
@ 4 DFEHR @ 1DFFHR
Vi =2, — V4 =—12

D+1/256 ++/144 ++/400

6 4+ 72 #F 20

D64 ++/36 #+/100

@+/289 —1/225 #+/64

7 = 75 #F ¢

@+/169 —+/144 #+/25

®+/100 ++/100 = 2 /100

70+70 =2 X70

@481 +4/81 = 281

DVA +V4 +V4 =34

I+ 2+ 2 =3 x2

®VO +9 +v9 =30

® 449 +/49 = 5149

4 X74+7=5 X7

® 21/25 +1/25 = 325

©® 44/1 + 51 = 9,/1

4 XJ+5X71=9 X7/

©® 21/36 + 41/36 = 64/36

x>

o F DHEEAA LT, FHEERD L,

Find the value of the Square root use the square calculation.

= T%éﬁ)%’tii_l
#=  ewsrn /=
R R LTI
#=  ewsrn /=
L B LTI
#=  Tesrn./  =e
R R LTI
#=  cesre, /=8
LA A LEERANNEE
0= wsne, /=1
W= eesrn, =
=l TMM’Wf::i—
W= ks, =1
W TMMﬂv*::i—
5= T%éi)ﬁo,r\/ 7 77777777 f =

,,,,,,,,,,,,,,,,,,,,,,,

@D 464 — /64 = 364
4 xg — § =3 X¢

@ 3+/81 —/81 = 24/81

®vo — 3v0 =219

®va — 5V = —4v/4

2~ 2 =56

53— 3x3 =—2x3

@4 x+/9 =136 ©+/4 % 1/36 =/144
2 x3 =4

09 x9 =81 16 x /16 = /256
3 x3 =9

@+/400 /4 =100 @64 ++/4 =116
20 + 2= 10

@144 ++/4 =36 @36 ~v4 =9

@ 3v4 x 109 =336

3 X2 X3 =3 X6

@ 3v4 x+/16 = 364

(Vo =9
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2.

LRl REH T, ¥ EEemRE L, CROBOK N B RS NT E &,
Fill in the blanks to complete the sentence. Express the magnitude of the following numbers using inequality signs.
hy Lrd/~0iEd L v HAED
O Hholxz2®(FH)L<alcnsi, {31 B8 F
Fhbb, -a ThHLE, O Vh, V2 = V2
x tao L5, 7S 72 &Y
= (== ThBHHD, R
”””””” | anEs sk % TE 0 B 13 H B RO K % 1
7k_7 &j: @:Fjj_* Tg%)%)o ey Bk !
777777777777777 ‘ =N NI
U ny ~WNIE9Y ZA Z AN
E@@a@iﬁmmmm@%@,@ﬁﬁémgf ® 4. JE ® 6 VI
5 25 oo
sz 7
FEE R Cﬁéf’ff?%@fﬁﬁ% 777777777777777777777 : g2 =16, (V75 V=15
~WIEY T A i »
AT &L, —
AovhiRy P 2 s VT
EEL, 0OFHHIEL0TH S,
%E??\]_;i,: 7777777777777 L, \/a_ff 777777777777777 a ® —vb > —v6 ® —v9 > —V8
L g 5< 6 &
L0 = ThEBB, O = —VE > —vh
CLLLIIIIIT o sODT Eoknh bl .
1% =] ThHME, VI = HED T AR b S
S EAROE A
.92 L N —
2 — ThEME, VA = @ —3, —V8 @ —4, —V17
. 2 :3 3 > hY :3
8= Thohb, VI o= 32 =9, (Vi )=+
42 [ N / :
4 . THIME, VIE = —3 <=V
- 50 =  ThLMD, V2B =
b oF  Lx n<4 b
/j’(@ ﬁﬁ‘ Zg;k&) J: Find the value of the following expression. YK@I‘ %%ﬁ H J: SeME" @ié 5 Check the following formu
anE bA D A b AL
1 B fil 15 /A i
D 10 © S H D 5O 4 D V64 ++/36 #1100 |D 16 +v/9 #4125
Vo, =70 §+6+F70
AR DA ~LIES T A @ V100 —+/36 #+/64 ) V25_‘/9_¢Vl6
@ 36 O FH @ 9 DFHA
10—6F§
V36 =6 , —V36 = —b6
@ V4 ++v4 =24 @ V49 ++/49 = 21/49
® 640 E 0¥ HH ® 16 D EO T i 94222 X2
ver =4 @ 436 —1/36 = 3136 |@ 5,0 —/0 =40
@ 100 » £ 0 F I 4 @ 25 DA DT IR poxbmo=axe
700 = — 70 ® \/4_ X /25 =4/100 ® \/4_><\/16 =+/64
2 X5=70
® (vi1 ) ® (V39 )’

la.

77

® V3 < vi=vB

6 — 2=3

® Vi6 < Vi =i
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Fill in the blanks to complete the sentence.

ny Ll S b

4. koK m ERE S RAEFA L TRD L.

Find the following numbers using prime factorization.

~0iEH

O bokkx w2 ®(FH)L<a

e
W78 54K

Thbb, X =a ThdLx,

~V

7z7ZL, 0

Cxod S A

@2 F OFHE

‘@1ﬁm%

129 o

VEk;

AL

@1%&

AR Th

=

~U T

<o

L ﬂmbf1ﬁﬁ%*®é

WEVa

CThDHIND,
CTHDHND,

CThDHIND,

A
Vi o=
Vo -

L<

Zh

42 = THBEMD,

Vie -

ekd Bz bL
2. ko Z KD K,

Find the value of the following expression.

nwnEn

HAED

{5l #A il &H

© 70T i @ 50T K
VI, VT

@ 81 ® T Ak @ 49 V7 A

Vel =9, —VE1 =—9

b=

3. /k@ & & /N

Lidd9En

ﬁ%lﬂif*%i

Find the following value to one decimal place.

nwnEn

I

(ol
Y\v’:

fo1 48 e
V5 Ve
2=y , 3*=9 &y

2<45 <3
2.2% = 4.84
2.3% = 5.29 ¥V

2.2< 5 < 2.3

Vs =22
2.2 2.3
X 2.2 X 2.3
4 4 69
4 4 46
4.8 4 529

v b EN
15l R i H
\/6084 V2704
2 )6 0 ¢ 4
2 )3 0 4 2
3 )75 2
3) 5 o0 v
3) 7 6 9
73

V6084 =/2X2X3X3X]3%]3

=1 X3 xX]3 =7

?é? L ATl H At

. RO H m}g H X, ¥ £E"T @ o) Check the following formula.
v En b
151l #H ] R

D+/36 ++64 ++/100

MD+/144 ++1/25 ++/169

6 + ¢ + 10

@v225 —V14d #Bl  |@+36 =10 #4125
5 — 2 +F 9

®Vo ++10 =2+ ®V16 +16 = 24/16
343 =2x3

@24 + 44 =64

@349 +249=59

2 X244 X2 =6 X2
® 3125 —1/25 = 2125 |® 5116 —1/16 = 41/16
3 X5—5 =2 x5
® 419 — 3,9 =19 ® 314 — 24 =\/4

4 Xx3—3 X3 =3

D+/144 /4 =1/36

12— 2 =6

D+/144 ++/9 =+/16

® 3v4 x 0 =336

3 X2 X3 =3 X6

2v/4 x /16 = 21/64
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1. /j’(@%%lﬁéﬁfﬁ s J:o Simplify the following formula. 5. /j’(@ﬁ%d‘%ﬂi’i Calculate the following formula.
fil F'é%-ia foi e [
D Vo -P o D VB2tV © Viz +yis
=9 = 42 +3 V2
_ 2
® ViE 2 V16 I
=2
p— - © V5(v5 —vB) @ vEWE—vE )
@ V1 =12 ® 10
= 7 = V5 xv/5+/5x(—/3)
@ 8 =yixz @ 12 = 5—4/75
. D vB(v5 —vB) @ vElE—va )
® VI8 —vieT o Ve = V3 i)
= 3V2 = Vi5 =3
© VB2 =i © vas. @ (V5 ++3) (V5 —vB) @5 +v2) (V5 —v?)
= 4 V2
v YWY
@ /50 =25 x 2 @ /15
= 5—3 = 2
= 542
® (V5 +1)(V5-1) ® (V38— 1)(v3+1)
o /k@bé%n<§ vl:l‘J:o Check the following formula. _ (\/5_ )2*/2
b i Ll S
D 36 +v64 #1100 |D 9 +/16 #4125
5 BaE I Y B 5 BaE $H YD
b6+ 810 © 4\/2; Grionai) |© 4\/3; (HEo# mik)
@ V100 —/64 +#+/36 |@ 25 —v/16 #9
70—8%#6 = \/i—i\/i—
® Vo +/0 =29 ® V4 +Vi=2v4
@ 344 —/4 =24 @ 3416 —/16 = 216 !
3 x2—2=1 x2 Y o GEetaR)| L (e A
® VO x4 =136 16 X v/4 =+/64
3 x2=¢ I xWE =B
VitvE ) (Ve —v3
® 36 ~+v4 =19 ® 1100 =4 =+/25 ( a )
6 + 2=3 =/
i $ 9 N 2
3. KK@JC%#;%L E7E75>I_JL k%fﬁ
jijﬂate the following formula and check that the left and rlght are the same. \/5:— : (;);-j\h@%éﬁh) \/?_)1_ : (;\A/a)%?é/jh)
wE | 4 (/16 +9 ) VA X /16 +1/4 x /9
=2 (4 +3) =14 =2 X4+2 x3=74 1 xWs )
T Vet )W =1)
i | Va(v/25 —v6 ) VEX 35 —Ix V8
Vs =

4
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1. /j’(@ﬁ% %$ sy J: Simplify the following formula. /j’(@ﬁ% § %- J: Calculate the following formula.
fil B i fi i
@ V86 V& =vb xv6  |D VO © V18 —v2 @ V27T =B
= ¢ = T T
@ V16 =V& =4 x\/a © V4 — 2T
-~ @ v5(v6 —v2 ) @ v5 (V5 -3 )
@ V0 =0? = ® v1
VO =02 =0 <o Vi i)
=0
= 5—4/70
@ V12 =vix3 @ V8
9 v2(V5 vE) @ vBlE B)
= 23 )
— 3.3 = i0 —2
® VB /s ® v ® (V5 1v2) W —v2) |® (5 +v5) (V5 —v5)
— 4 E = (V)Y -2
@\/ﬁ:\/25x3 @\/5? = 5—2 = 3
SV O Ws+2WE-2 |o (E+2Hs -2
2. :/}ii@:%é%ﬁ<§ V&J:o Check the following formula. - (\/6_ )2*22
%ﬁ% F‘n LE = 6—4 = 2
@® V9 ++1/16 +#+/25 @O /36 ++/64 +#+/100 EME 50 BME B850 3
Vo EvIE V36 e © vz o ai)|® V2 (o mit)
3+4+5 Vo VT
@ v25 =9 #./16 @ V100 —+/64 #/36 NG
5—3#4 Vs x4
@ V16 +16 = 2116 |@® 0 +/0 = 2.9
4+4=2 x4 = '5/0
@ 3va+2v/4=5v/4 |@ 39+20=59
. @ 1 Hpl N @ 1 s;\xvf Wy 5
3 X242 X2=5 %2 \/5_\/2_(;7@@@@ \/g_ﬁ(ﬂmoﬁ@t)
® V16 x4 =64 ® Vx4 =136
4 x 2= I XWE V)
(Vi-v2) (Vs +v2)
©® 1100 ++/4 =+/25 ® V36 4 =19
0+ 2=5 Y
o & A 5 BR B 3
3. KK@JC%#;%-L EEZ’PITL k’i’ﬁﬁ
Calculate the following formula and check that the left and rlght are the same. 1 (;\hm%éﬁh) 1 (;\hg)%?éﬁh)
V6 + 2 V6 + 2
e | VA(V25 =10 ) VA X 1/25 — /4 x/9
i 8
=2(5—3)=4 | =2 x5—2 x3=4 X —2)
(Ve+2) (Ve —2)
e V4 (v/16 +9 ) VA X /16 +/4x+/9

put
)m.{.—

Vb —2

2
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~NIEY Th noEn

A

E( R 8

3. /k D J‘ i E I K, Simplify the following formula.
i bAED
f5il /E ] RH
D V12 =yax3 @ \/_
= 243
@ 1/20 =4 x5 @ V24
= 25
4. /j’( D] ft & %’ém}gv& iy ° Check the following formula.
o LA
f5il /E Bl
D V36 +v64 #4100 |© 9 +/16 +#+/25
6+8& #F 70
@ 3+v4 —/4 =24 @ 3416 —/16 = 216
3 X2—2 = 2 X2
® VO x4 =136 16 X v/4 =+/64
3 X2 =6
@ /36 /4 =49 @ /100 ++/4 =+/25

Lol ianT, X EEERE L,
Fill in the blanks to complete the sentence.
® bokix e ® (FH)L<alcns i,
Thbb, XX =a ThdLx,
x ka0 v,
® Eolanthiin by, EiisbLc
ﬁ%#iﬁéiﬁpﬁﬁfﬁﬁ%‘ 777777777777777777777 ,
st LE<,
REL, 00¥RHIE  Ths.
2= lThamn, VI o=
2= ThBLSB, VE o=
= Thanb, VE o=
/k 75) %‘L % ?k X, Find the value of the following expression.
{5 B [
@ 10 @Tﬁ%%ﬁ% @ 5@%%%@2
ViT VT
@ 64 @IE@%%*E}Z @ 16 @IE@;Z%*E';
Vel = ¢
® 100 » £ o F 7 i ® 25 0 £ DTk
00 = —170

i /\/

6~ 2 =3

DAY

- VB ()

. /k@it%;ﬁrﬁféio Calculate the following formula.
fi i
© V18 —v2 © V2T —+B3
= 3v2 —V2
— 7
© Vo(v6 V5 ) |@ il B )
VB /o/(—E)
RN
®v5(v6 —v5) @ vBLA B )

30
@ (v6+v5)(v6 —v5) |@ (vV7T+v5) (7 —/5)
= (Ve ) (/5
= b—5 = 7
O L Giowai|® L (i

7 x(Ve —v5)
(Ve+v5) (Ve —vE)
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/j’(@ %ﬂ&)f %C _%%MELEV@J: 4. /j’(@ﬁ%ﬁ‘%ﬁi Calculate the following formula.
Fill in the blanks to complete the sentence. . RN
- — - {5 i1
®%é§&x%2%(¥ﬁ)brakiﬁé§&, ® o +16 © V36 +./64
Thbb, ¥*=a ThbLx,
7T ‘ = 3 +4
X %a@} 777777777777777777777 3 L9,
M, ~0IES ZA z o 1 b =79
@ Foka oz ”W@:M o1 75 L <
D T L e Y
TR s, %@E@jﬁjﬂ‘ﬁé% 1,
e | @ ViZ V5 @ VB —VE
BOF SR % LE<
***************** N
2 /5( ) JC & %‘% L s i Simplify the following formula _ \/3—
e En bA L
151 B i &
JOr .2
O e CEA O OB ® v3(v/3 —2) ® v5(v6 —2)
=5
@ V6 ik (@ Vi L E )
= 4
@ V0 =02 =v0 xv0 ® v1 = 3—2V3
=0
@ R0 —ix5 @ &8 @ (V3+2)(V3—-2) |@® (vVB+2)(V5—2)
= 245
_ 252
® 127 =v/9x3 ® /18 = (V3) =2
= 343
= 3—4 = —7
® 148 =16x3 ® /32
= 43
© VT — R © VB O 2 Ggmk)  |© G (iR
= 543
3. hoREHEL, MMk, e
Calculate and simplify the following formula. - \/3_ x \/§
nwnEn bAED
151 B i &
O V2 xV6 ® V3 x6 /N
3
= V72 =4/4%3
= 23 — —
Y op G| i (i
@ vhd + 2 @ V24 =+ 3
= V27  =49x3 = I x(/3 —2)
(Vi+2 ) (Vs —2)
= 33
_ 3 —2
® 32 x+/10 @ 23 x+8 —17
= 320 =3Vix5
= 2—V3
= 65
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1. /j’(@ﬁ%%f sy J:o Simplify the following formula. 4. /j’(@ﬁ%ﬁ‘%ﬁi Calculate the following formula.
fil il foi e 1
D VI Vi O Vi D VR0 + B D VB0 + VIO
=7 N
@ \/671\/8?:\/8_><\/8_ @ \/2? _ 3\/5—
— ! @ v2(v6 —v8 ) @ V3 (V6 —27 )
@ V1 =v12= @ V0
Vi Vo — VI (/)
=
= 12—/76
@ R4 =/ix6 @ 20 viz
® Va5 =\ix5 ® V5t = 23 4
= 345
@ (Vo —v2) (V6 +v2) |@ (v6—v3) (V6 +vA)
® 32 =yi6x2 ©® 90 , ,
= 6 ) —W2
s W) ()
@ /125 =25 x5 @ 75 - o2 =
L D)) | EvE)E-vE)
oF  Lx pdd = (‘/é_ )2*/2
2. Yk@it% % V@'J:o Check the following formula.
oz e = 66—/ = 5
15 B i
D Vb4 ++/36 #1100 |D VO +16 #25 ® B o ® V7 o
§ +6 F 70
@ V25 —16 #9 @ 1100 —/536 #+/64 3
5—y + 3 IRVARSVE
@ V64 ++64 =264 |@ 25 +25 =225
§+6& = 2 x¢ = 3/5
@ 49 -0 =39 @ 54 —/4 =44 - A
© 1 _ (a9 —1— (Fmi)
4 x3-3 = 3x3 Ve =2 V6 —/3
® V25 x+/4 =4/100 ® V16 x4 =+/64
_ x (Vo +v2)
e (svT) W6 +vT)
® v81 19 =19 ® 36 ~1/0 =4
9+ 3 =3 A VI
4
3. WORENHL, ARAL L &R - : - - , :
Calculate the following formula and check that the left and right are the same. [ — .y - - AR
; . 1 (1L -y (2 1k)
e | VA(V/16 +09 ) VA X /16 +/4x+/9
13 /A
=2 (4 +3) =74 | =2 x4+2 x3=/4 _ I xWe 1)
(Ve+r) (Ve —1)
e | VA(V25 =19 ) VA X /25 — /4 x+/9
1 RE
_ 6 —7
5




~NIEY Th noEn

ﬁ%l Thik 6 2 L E( BB )

/k @ % i’i T, %g ) % % %%ﬁ £, 4. /j’( @D J‘ % :‘LI‘ % REA Calculate the following formula.
Fill in the blanks to complete the sentence. PR R,
B : e Ll
V2rlcsensBesol . LR D V10 + /0 D V20 ++/80
i ES L . bbb
EokE LAokE LT, T ey
@ ?@:ijj:ﬁ 7777777777777777777 k 777777777777777777 T%é" = 4+/70
®  o¥HHE VT r VT Ths,
@ 12=1 Thirmo, VI = Rt OVIZ =B
=4 THHNG, Vi = | = V2 —2V2
82=9 ThorMb, VO = ? = 2
® V3 &N HE 1 ETRD D EVE = | L
”””””””” 5. oz REHL T, BHEE L,
2. k@ﬁ%(:}% L, %;g@lﬁio Expand and rearrange the following formula.
Calculate and simplify the following formula. ?ﬁblj % F‘n%u %
i1 i O V5 (V5 +2) O Ve (V6 +2)
® V36 + 64 ® V4 ++16 Vi xVE VX
cere = = 5+2v5
@ 100 — +/64 @ V25 —+9 ® (V5 +2) ® (VB +2)
= 0me =2 = (VB)+ axaxVE+ 27
@ V4 X+/R5 ® V4 X0 = 5+4vV5 +4
= 2X5 = /0 = 9+4V5
D V36 B @ Vo1 i ® (VE+2)(vV5-2) |@ (vVB+2)(e-2)
= 433 = 2 = (V52— 2?
DA A =b5—4 =17
3. k@ﬁ%%ﬁ ol c i Simplify the following formula.
nuvEn HhTE ¥ L& 5 AE @5 Y h
i F'ﬂ 6. ROKXDyREZAHE X,
D \/E @ \/— Rationalize the denominator of the following expression.
nnEn bAED
— JIXIO =+/2X2%70 W?ﬁﬁl L] El
@ @
= 210 V5 Ve
Vs Vs
@ /18 @ /45 ‘\/S_X\/S_; 5
N e o 5 1
S VB + 2 Ve + 1
= 32
B 7 x (V5 —2)
(V5 +2) (V5 —2)
® /50 ® /20
V5 —2
= V/25X2 = /5X5X2 = /
R = V5 —2




~NIE) Th MNhdzh noEn

32| IHROEE( RE [ E(C B )& )

SF .. ! 5 FALED  mAED SF  LE Ju&a
].Yk@l 77777 1%{"%3?7)“(, jC %%;{:EXV@'J:O 3. ﬁ@fﬁ%%‘%ﬁio Calculate the following formula.
Fill in the blanks to complete the sentence. PR R,
Ny AR T w0y 51 & il
@ 2U LD %ﬁflk%@i&u DI 72 N & D V20 —ixs D i3
777777777777777 AN =4/2x2 x5
m\@‘,a m\@‘,a * & o 2 1/5
@ HIEKEENWSONPOEHOETE b L,
WS omOERE Yo, @ v24  =vixs @ v40
25 wATH o ! Wty WAt =1/2x2 x2x 3
® RROEHE 3 S, Wk R
%i %);‘a— k% ”””””””””” L = 2 Vb
DOFFET Z : ARSI
S ® V8  —vixz ® V27
~WEH Z A ZhIH 7 he ZWAT I BB B »
@ FHBOWRZOT 2 REAHAE LI L&, FLE — /232 x3
. A \i ZhITH zL LD
N2EBHD E, TOBIFIRFDOINT T 5, = 2 2
~AVIES S A T ; :
oz xRSk RN @ /45 —+0x3 @ /63
Bh o ENTS i P
® RUEHE 2E 2T TTEDLH % =1/3x3 x 5
SLESSA TAZS Sk o R _ \/6_
Lo, PHROBRZOFICERRS HIIT, = 2
~NVED A D kT kb
FHR e EEETE D, ® /48 =116x3 ® /80
% L P hT ks =4/4%X4 X 3
2. Yk@ﬁ%%$§lﬁio Simplify the following formula.
= 4 43
il B ]
® 50 =y%Bx2 ® 75
D+/3675 D /2205
=4/b%X5 X 2
5 )3 6 7 s — 5
5 7 3 5
3 ) 7 o4 @ V98 —vmxz @ /147
7o) 4 9 N T
7 = 7 V2

V3675 V40  =v1x10 V90

= /b5X5 X3 X 7x7

5 X7 43

© V60 =/ixis @ /120
= 353 _ ravTs
= 2475
©21/2925 @ /2475 08 -3 %0
5 )2 9 2 s NCIEE
5 ) 5 8 8 = 63
3 ) 777
3 ) 3 9 @ +0.07 =voo1x7 @ +/0.05
E — OIXOIXT

= 0.7 V7
V2925

= /5x5 X 3%x3 x /3 ® /0.2 =001x20 @ 05
=1/0.1%0.1 x 20

S oV _ JOROTXEE

= 15 Vi3 ~/02x02 %5

= 0.2 V5
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1. Yk@it%%‘%:b, %%@lﬁio 3. Yk@it%%‘%ﬂi’io Calculate the following formula.
Calculate and simplify the following formula. PR
— — Bl 4(2+3) S m(at b)=ma+mb
11| RH ] &
D VB 6 D V3 x 6 = 4 X2t Vs
= /2 =Vixs = P+4v3
- 23 e 2 (348 )
©)
@ V3 x+/15 @ V3 x 421
— VT =i
= 345
%’J% \/§(2+\/?>_) ¥m@t+bd)=ma+mbd
- . )
® Vb4 + V2 ® V24 + V3 T x24T
= V2T =vexs = 23 +3
- 3 \/3_ HAED
HEE /8 (3++8 )
)
@ 32 x4/10 @ 23 x+8
= 3v20 =3vaxs
= 65
e e s FiE (2+3 ) %(a+ 02 =a2+ 2ab+ b
2. Yk@it% %1‘%:@ J:o Calculate the following formula. @
= 2242 x2 x5+ (V3
11| RH ] &
© V12 +4R7 D B +418 = T+
= 2v3 +3/3 i (348 )2
©)
= 53
@ V12 —/3 @ 8 —+2
Y
= Vi B (24+v3 )(2-v3 ) %att@ b=da o
@
— 22* 3 2
® 48 — 243 ® V20 — 245 (Vi)
=7
= 13 =23
bW
— G HE (3++v8 )(3—+v8 )
@
@ /12 —+/48 @ 6 —+24
= 23 —u4/3
= —2/3




~NIEY Th PARR-Y Y] v

42| TRROHE 2 R3 L E( 8L 8 )

1. ?E@%é%%‘\%b, %g@lﬁio 3. ?E@%é%%‘\%ﬁio Calculate the following formula.
Calculate and simplify the following formula. PR
PR A 11| RE 5(4 +\/3_) ¥ m@+b)=ma+mb
f5il /E ik
D V5 x B D VB xi0 = 5 X4Hs XV
— VT —JivE = 20+5V3
= 24 i 3(1+v2 )
@®
@ V3 x+6 @ 3 x+/15
- ViF  -ax2
= 32
%’J% \/5(24—\/3_) ¥m@t+bd)=ma+mbd
® 124 =+ 3 ® 124 + 2 — E x4 XA
=V e N
- 2 \/2_ b
HE v2(1+v3)
)
@ 343 x4/12 @ 242 x+8
= 3v36 =3%x6
= 7%
e e s FiE (1+v2 )2 %(a+ 02 =a2+ 2ab+ b
2. Yk@ft% %1‘%_3@' J:o Calculate the following formula. @
= P2kl xy2o+ (V2 )
f5il /E ] RH
D VE 4B D VE vz = 3+2v/2
= VI +2/7 i (1443 )
©)
= 32
@ /B8 —+/18 @ V12 —+R17
= 22 —3v/2
= V2 Bl (14v2 )(1—vE ) et @ b=
@
— /2* 2 2
® V60 + 22 ® 48 + 24/3 (vor)
= —7
= 5/2 +2v/2
bW
— HE (1+v3 )(1—v3 )
@
@ B2 —2 @ 20 —+/5
T T
= 32
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1. ?E@%é%%:%b, %g@lﬁio 3. ?E@%é%%:%ﬁio Calculate the following formula.
Calculate and simplify the following formula. PR
e o AU 11| RE 5(\/3_+ 2) Xm(aer):maerb
15 R4 ik
D 6 x+/15 D 6 x+/10 = 5 x3 +5x2
— ‘/75 :\/m — 5\/3_ +/0
= 543 i 3(v/2 + 4)
@®
@ V48 + /2 @ /60 +~ /3
= 24 =1/4%x6
= 26
fE V32 -3 ) o B)=ma— mb
)
® 32 x+6 ® 23 x+6 — V3 xv2-13 x5
= 372 =3v4%x3 _ \/6_*3
=3 X’Z\/g_ bhED
e v2(V8—v2 )
= 6V3 @)
ek4 L& DAY
2. Yk@it% %1‘%_3@' J:o Calculate the following formula.
i bAED
15l R4 ] RH
D V20 45 O Vo8 +v2 FiE (Viz —v3 )2 %(a— b2=a2— 2ab+ b
=v4x5 +/5 ®
W) =2 x VT Xy 4 (VT
= /5 ++v5
= /2—2 X6+3=3
- 3\/5_ bAEN
e (V18 —v2 )2
©)
@ V12 —+3 @ V18 —+2
—JIX3 3
Y
- F
nw ey
® V2 —+/B ® Vi5 —+B0 {ﬁu@%ﬁ (2+v2 )(2—v2 ) %@+ b)(a— b)=a— b2
—V36X2 +1/A%32 = 22—=(2 )
= /2 —2v/2 = 4=2=2
SN i (2443 )(2—v3 )
@
@ 48 —4/12 @ /108 —+/27
— VI6X3 +v2%3
= 43 — 23
= 23
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1.

bz

)
. koKX E

ek L& <

/k@ /[N %fk&) . Find the value of the square root. | 3 % ﬂiJ:o Check the following formula.
f i fi i
@ V36 =vEx6 =6 © Vo M+/144 +1£56 ++/400 |Dv25 +/144 #1169
= ¢ 72+ 76 # 20
@ VB4 =\BxE =82 @ V16 @100 —v64 #v36  |@v25 —vO #4/16
= ¢ 0 — 8 # 6
® V100 =viox10 =10 |@ 25 @36 0 =v4 ®@+/100 +25 =4
= 70 6~ 3 = 2
@ Vis4 =V =12 @ vies. 4. /k@ﬁ%:‘bf%ﬁﬁi Calculate the following formula.
ik b i
. /k@ﬁ%%% [l Simplify the following formula. © V18 +v18 © V50 /50
i i = W2 4T
D V24 =vax6 =va V6 O V12 = W2
SR @ V30 +80 @ VIO +vE0
@ V20 =viv5 © 40 e s
— 2 .
@ V18 =vox2 =102 ® 190
= 37 ® V48 —v12 ® V72 —vB
ORVTEN ® V5 = AVE -2V
= 36 = 23
® 80 =vi6x5=1/16v5 |® /48 @ 18 2 @ V12 —+3
A W T
® V15 =vBExs=vvE  |© V50 R
= 543
D v —vvr |® v ® V150 —+/6 ® V405 —+/5
U = 5v6 —vb
VB0 =/T00% 6 =100 /& |® /300 = e
=70 V6 ® 1600 —+24 ® 1300 —+/75
© /180 © /405 0V
= 65 o
ijf;g @ /180 —+/80 @ /450 —+/50
3 4 5 = 65 — 45
3 7 i o
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1.

VG 3 Calculate the following formula
f i
O VA x4 =i © Voxv9
= 4
@ VBxy/3 =B @ VExv5
=3
® v2xv2 =vh? ® VBxv6
= 2
® v3(vV3 —2) @ v5(v56 —2)
= 3 x/3+/3x(—2)
= 3—2V3
®2(/3 —2) ® 2(/5 - 2)
= 2 xv/3+2 x(=2)
= 23 —4
©® (V3+2)(3-2 |® (V5+2 (s -2
= (5 )
= 3—4= —/
@ V6 (V6 —v3 ) @ V6 (V6 —v2 )
= Vb xVErVex(—/3)
=610 =6—3/2

® v3(v6 —v3)
= V3 xv/6+v/3x(—/3)
=i —3=3/2-3

® v2(v6 —v2 )

© (V6 +v5) (V6 —v5)
- WE) WY

= 6—3 = 3

® (V6 +v2)(v6 —v2)

® (1-v2)(1+v2)
= - Wr)

= /—2= —

(1—+8)(1++3

@ (v6+3)(v6—3)
= (Vo) -4

—6—9=—3

o (vV6+2)(6—2)

@ (2v2+ 3)(2v2 — 3)
_ (2\/2—)2*32

= §—9 = —7/

@ (2v/3 + 3) (2v/3 — 3)

2.

¥ Lx ~0E3 A BAE #5 0 B
R DOXDFTTRD 55 B0 FHAL 28 X,

Rationalize the denominator of the following expression.
fi i
V2 V3
YF YE
_ 2 X4/5
V5 x5
_ A0
a 5
v V6
Y Y
VRSV
V3 x/3 3
_ 32
S
1 1
@ V3+ 2 ® V8 + 3
XA
(V3+2)(V3-2)
__We—2
a —7
= —/3+2
3 2
@ 6 — 3 @ 76— 2
3 X (V6 +3)
(Ve—3) (Ve +3)
_ 3 x(V/e +v3)
—3
= Vi VT
® V3 ® V2
VB /3 VB 2
VT XD
(Vetvs) (Ve —v3)
W72 s 3 (W2
- 3 3
= V2 7
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1.

Ve L T Caleulate the following formula
{5l i
ORVEENVGEN O v2xv2

=5
@ VT x/T =7 @ V3xV3
=7
® VB xy/8 =& ® v6xv6
= ¥
@ 3(3—+8) @ 2(2—-+3)
= 3 x3+3x(—v5 )
= 9-3v5
® v8 (38— v8) ®+v3(2-v3)
= VF x3+V/E x(—VF)
= 3F —¢
©® (3++8)(B-B) ® (2+v3 )(2-v3)
=W )
=9—¢ =7
@ v5(V6 —vB ) @ 5 (V6 —v2 )
= V5 x5 HVEx(—/3)
= 5—/75
® v3(v6 —v3 ) ® v2(vV6—v2 )
= Vi xy/EV/ax(—V/3)
— V5 —3
© (V6 +v3) (V6 —v3) |@ (V5 +v2) (V5 —v2)
= (VE)—(3)
= 5—3 =2
® (3—-2v2)(3+2+2)|® (4—2+3)(4+23)
= (v2)
= 99— =7
@ (5+3)(6—-3) |©(s+2)(5-2)
= (V5 )'=4
=5—9 = —4
®@ (2v3+ )(2f—3) ®@ (2v2 + 1) (2v2 — 1)
= (/3)'—
= J/3—9 =3

2.

L& /Sa/ [E4

&@t@ l%ﬁﬁk%ﬁ;

Rationalize the denominator of the following expression.

i
i

HATED

VE
Vs

o VL

%

T Xl

/)

W) (Wz-7)

V5 — 2
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1.

o = g sA
Yk D) %t & %1‘ i%:v@: XK ° Calculate the following formula.
hnEn b A
f5il /E i E
D VB x/6 V& © VixyT
= 6
12 x4/12 =4/122 @ /10 x4/10
= 72
® VIxvE v ® vVoxvb

=9

@ V1T (V1T — 4)
=17 %17 /77 X(—4)
= 17T—417

@ 10 (/10 — 3)

® 4(/17 — 4)
= 4 x /77 +3x(—3)
= 417 —T76

® 3(+10 — 3)

® (V17T +4) (V17T — 4)
= i) -4

= /7=76=7

® (V1o + 3) (V10 — 3)

@ V1i(VT —/3)
= VIx/TH/7X(—/3)
= 7—/27

@ Vi(VT -2 )

® V3 (V7 —v3 )
= V3 VT HVEx(—3)
= V27 =3

® V2 (V7T -2 )

® (VT++v3) (V7 —+3)
= (V) -3

=7-3 =4

©® (V7+v2) (V7T —V2)

(4 —3+v2)(4+ 3+2)
= (V2 )

= J6—18 = —2

(5—2+/5)(5+2+/5)

® (vV7+3)K7—3)
= (V)-8

=7-9 = =2

® (v5+3)(5 —3)

@ (3v3+ 5) (33— 5)
= (V3 ) -

= 27=25 = 2

®@ (2v2 + 2) (2v2 — 2)

2. ROKXDTHBOL O FEL %1 L

Rationalize the denominator of the following expression.

T+ (-3
2v/3—3

= 2v/3 —3

?ﬁnj% bAED
V5 V2
Ve O
_ 5 X4/6
Ve x+/
_ 30
6
V12 V12
YR v
RSV,
VI x2 2
_ 23[26 :\/6_
1 1
. © o—3
I xWir )
W =)W )
_ Wi e
/
= Vi7T +4
®—2 @®—2
VTV VT Ve
Y Vi)
V7 =V VT —V3)
X (T )
4
= V7 v
V3 V8
© 2 ++/3 © 3++8
V3 x(2—4/53)
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1.

L& AR
/j’( D) JC & n+ i%: JE’: J: Calculate the following formula.
1
x:—, =
VErvs T T Ve
. 1 _ 1
T VB tvE VB V2
I BN 500 M,
Bl x &y EAEEE L,
) 1 x V5 —v3) _ Vb —V3
(5 +v3 )05 —v3 ) 2
Y= 1x 05 +v3 ) _ VE+v3
(5 —v3 )5 +v3 ) 2
BB a & bR % AL,
©)
o (jbxi/{:
{@Jﬁl‘_ﬁ x+y %E ﬁ'ﬁ:io
2 V5 =3 N
x+y=
2 2
_ 2\/5_ _ \/5—
2 Vo
bA ED DO
n% a+ b %§+§ﬁio
)
o fZn (jbxi/{:
Bl x Xy ZEEE X,
® V5 3 VB VA
x X y= X
2 2
_5-3 __1
= 1 =
b EN (jb\é/u
F‘% aX b %§+§ﬁio
©)
e fEn (jb\é/u
BlE 2+ 32 ZEEE L,
@ x2+y2:(x+y)2—2><x><y
=(v5) —2x =4
b EN (jb\é/u
n% a2+ b2 %ﬂ‘%’@:io

®

x=+5 — 2 Ve 1D EE, KOREHEEL,
=N 1 A E $H Y n
i L ongrrmbex,
®
; _ 1 X (\/5_+ 2) _ \/5—+ 9
5~ 2) W5 + 2)
%% L olyma e x
FOLAN S 1 BT 'é@
BIE  x + T@{E R K&
&)
x+ =05 2)+(5 +2)
=25
HAED 1 BT b
W oy + T@ﬁiﬁfffk&)i
)
P 1 bEC b
B x— o #kw X
©)
r——4=5-2)-(v5+2)
=—4
HAED 1 B 'é)g
HE oy — Lol zke x
©)
P 1 I
B E x2 P il %‘::k&)ot
@
L=+ L) e ——=)
x2 X X
(2v5)(—4)= —8+5
HAEW 1 BT 'é@
n@;%_a Rl R T
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1. /j’(@bﬁ% n+%:ﬁ: ot Calculate the following formula. 2. /j’(@ n,[E Eﬁ A J: Prove the following formula.
X 1 — 1 =y 2 L& D
Ve + 2 YT Ve - 2 Wl a2t 2 =(x+y)?— 2xy % FEMHE L,
. 1 _ 1 5 ~A
RV V3 — 1 (Eiﬂ): (x+y)2—2xy
v En B oE wo h 7 — 42 2 — A2 2
Bl x &y oy E ARk W Zxy o 2ay =ity
© _ 1x (\/6__2) _ V6 — 2 £ -oT x2+y2:(x+y)2—2xy Q.E.D
(\/6_+ 2)(\/6_—2) 2 ba 1 1 Lo mn
W a2+ g = (ot ) - 2% A ek,
y = 1x (\/6_+ 2) _ V6 + 2
(6—2) (/6 +2) 2
B ok b fe fmibe &
©)
S¥ L& LA
3. x=vV3 —2,y=V5 +t2 0L X, KORX%EHEY L,
e e 1 B AE wH Y,
Wﬂ@% — Do EE AR L,
WV A=Y ].X 3+ 2
BidE x4y waEEx, 1 W3 + 2)
® V3 —2) (V3 + 2
L V6 — 2 N V6 + 2
xry= 2 2 _ V3+ 2 _ V3 —29
_ 2\/6_ _ \/6_ | ,
2 —_— HA D 1 R AE w5 b p
N -0 BE AR,
R o+ b %%jr\i%{ﬁio v
)
anED Li[{_ anED 1 bR b
Bl x—y ZEHEYE Bl x+ —— O fE &Kk &,
® - N @
2
pty = Y82 —‘/6—2 it Lo (Foa) i (vE2)= 4
4 HAED 1 Bz 'é)g
= 2 = —2 HE oy + T@{Eﬁfffky)i
®
LA Fu &4
D% a_b %§+§ﬁio
©)
i 2+ Lo a ke &,
:m\t“é 9 N (jbxi/{: @ 1
_ = _ 2
ﬁg& x y2 EEPRA L, x2+x—2 (+T) — 9
w5 t) () :
—(—4) —2= 14
=(v8)(-2)= —2v6 : —
bW Bl
bR du &4 HE y2 + 5 O i 75}*
ME a2— b2 ZEFEYE XL, ©)
@
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1. /j’(@t% ;1‘:%:%’: ot Calculate the following formula. 2. /j’(@ pr Eﬁ A J: Prove the following formula.
x:—l s y:—l bl 9 1 _LZ Lgiﬁ&)b\
V3 — 9 V3 + 2 {@J%xﬂLxZ—(x P+ o2& GE ML,
1 1
= - s b:—
“TVE s VB + 3 .
(Z’iiﬂ): x2—2><x><T+ x—2+2
=N /sz w5 o »
{%%E xky@ A BEEE L 29 x%+2:x2+x_12
( +2) VB2
¥ - — Vi~ 2 EoT 24 L= )42 Q.ED
(\/3_ 2) (/3 +2) —1 22 -
(\/3__ ) V3 — 2 EF%ME x2+y2:(x—y) +2xy7£’Ln§E7EU%Jd:ot
y= - - Vit 2
(\/_+2)(\/3_— 2) —1
BiRE b by Re Hobe k.
©)
x A=Y
3. x=v6+V5,y=V7+v6 DL x, OER L S
flE L osBrERLEL,
Yooy 1x (- vE)
* (V6 +v5) 6 —v5)
Wi oy wRR L. e R )
@ . :
xty=(vB-2)+(vB+2)= —2v5 e onmrfRier,
ba Y TORTY @
HE o+ b ZFREE L,
)
v En T EA %’j% - L@E{% %;k&)‘;
Bl x—y #aEE L, > X
© 1 _
eyl v )= s = b= W) ) 2
bA N U S A wﬁiﬁ — L@%{%fi’;&&)i
B a— b Zathd k. '3 y R °
®)
nw TORTY v EnD
FlE x2— 32 ZEFEE L, 151 R x2+ 0)1?5 %Zk??’)ot
@ 2 N2 — — ®
-2 =(x+y)(x—y) N A
=(—2v3 )(—4)= 83
:(2\/_) +2= 22
b EN (l‘b\é/u
HEE a2— b2 ZEHER L. b E B
@ A y2+ o D %?k??’)ot
®)
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SHB ~

oE L& (IL\ Sh PhoT b ST n Sh o L& (jb\ Sh VAV YR Y ST
1. WOKXZFHEL, ffiHICE X, KO OH T HE 2. WOAXZFHEAL, flHICE X, X%
N HA N N b A EN
11| RH 1 A 151 A I A
® 96 x — ® 816 x— ®2v8 + —— ®2vE +
3
= 96 x L = 23 x -
3, 1
— 3v6 x1=3+6 — 28 x3=6+3
3 3 1 1
@ 246 x @ 4410 x ® 5 - ® -
N
3 V2
= 216 x = 543 x
V2, 1
~ 23 x3=6+3 — 53 x2 =56
@4\/3_><‘/22_ @8\/5_><‘/22_ @3\/1_+‘/22_ @3\/1+‘/3_
2 N3 VT 2
= 43 x = 3114 x
2, V2,
~ 28 x,2 =26 = 37 x2=06+1
X 64/3 x 61/5 + 4.3 + 342
® 26T ©Lx65 R 0L 2oy
:ﬂxé’\/g _ VB y 1
/21 2 49@1
— V3 x3v3 =9 1 !
- —
2 2 L2 L V3
® 6x 5 ® 3x i ® 2 - 5 ® 3 - 5
_oex 2 V3 = 2x \/22_
V3 3
e 4
2 2v3 V2
= 6'x 3, =443
_ 4\
o . o . V2 TR
X X
VB g Ve g
_ 42
2
2
- <
=22
_ Ve
2




